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1970

86
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1 GDP
GDP GDP GDP
1954 11 1958 6 43 7.5 1.5] 1954 11 1957 6 31 7.2 1.7 1957 6 1958 6 12 7.8 1.1
1958 6 1962 10 52 10.0 2.8] 1958 6 1961 12 42 10.4 2.9| 1961 12 1962 10 10 9.3 1.9
1962 10 1965 10 36 8.4 2.8] 1962 10 1964 10 24 9.6 2.5]| 1964 10 1965 10 12 6.2 1.0
1965 10 1971 12 74 9.8 3.0f 1965 10 1970 7 57 11.1 1.8 1970 7 1971 12 17 59 2.6
1971 12 1975 3 39 4.8 4411971 12 1973 11 23 7.8 1.8] 1973 11 1975 3 16 0.4 2.6
1975 3 1977 10 31 3.8 1.0] 1975 3 1977 1 22 3.6 1.0] 1977 1 1977 10 9 4.4 0.5
1977 10 1983 2 64 4.2 1.4] 1977 10 1980 2 28 52 0.6] 1980 2 1983 2 36 34 1.2
1983 2 1986 11 45 4.2 1.6] 1983 2 1985 6 28 4.2 1.2| 1985 6 1986 11 17 4.4 22
1986 11 1993 10 83 3.7 2.8]| 1986 11 1991 2 51 5.4 2.1 1991 2 1993 10 32 1.5 1.8
1993 10 1999 1 63 0.9 1.9] 1993 10 1997 5 43 1.8 1.4 1997 5 1999 1 20 A 0.7 1.5
1999 1 2002 1 36 0.6 1.3] 1999 1 2000 11 22 1.0 1.3 2000 11 2002 1 14 0.3 1.3
2002 1 2009 3 86 0.9 2.5] 2002 1 2008 2 73 1.6 1.0 2008 2 2009 3 13 A27 3.9
2009 3 A 0.6 4.7] 2009 3 A 0.6 4.7
I. GDP
2. 1954 11 1956 1-3 2009 3 2011 79
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Var(GJPN):ZWiz *Var(Gi)+Z Zwi*wj' * COV(Gi,Gj) ----- ( 1 )
i=1 i1 j=1 i
var(Guy) GDP %  Gpx var(G;)
GDP G, COV(Gi,Gj) 1 J
2
W;j
(1)
: 2
1970 80
90 (1) 2
90 2000 08
90% 3.1+34 80
2 GDP
1950 1.4 0.7 0.8
60 3.1 0.8 2.4
70 32.9 2.3 30.6
80 1.0 0.1 0.9
90 34 0.3 3.1
2000 34 0.3 3.1
1. (D
2. 1950 1956 2000 2008 75 85
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D.C. 2)
51 51 51
var(Gus)== w2 var(G)+= Zw;*w;*cov(G,,G;) -----(2)
i=1 i=1 j=1=i
var(Gus) GDP %  Gus var(G;) i
GDP Gi COV(Gi,Gj) 1 _] Wi W;
i J GDP %
1988 90 90 2000 2010 3
90
3 2000
1,275 2
90 752 59.0% 2000 1,035
81.2% 10
90 19.7% 28.9% 2000
90 78.8% 67.2% 11
3 GDP
1990 3.0 0.2 2.7
90 0.3 0.1 0.3
2000 3.2 0.3 2.9
1. (2)
2. 1990 1988 2000 2010
UFJ
10 11
100 100
90 90
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12 08
13 (3)
17
4
08
07 86.8% 08 92.6% 136
10
92.6% 88.2%
17 17 17
Var(GEUR):ZWiz*Var(Gi)+Z Zwi*Wj*COV(Gi,Gj) ----- (3)
i=1 i=1 j=1,j=i
var(Geu) GDP % G
varG) i GDP G cov(G,Gy) i i
12 GDP 13 GDP
T T 3 T
08 11 w ‘
| | 11/7-9 |
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GDP Gypn GDP Wi
GDP G; 1 47
47
Gy => W, * G
=1
= w*G+w,*G,...... +w,,*Gyy

47

E(Gpen) => W * E(G)

= w*E(G )W, *E(Gy)...... w4, *E(Gyr)

GDP var(Gjpy)
var(Gpy) = E {Gipn-E(Gypn)}
=E GJPNZ'ZGJPN*E(GJPN)+E(GJPN)2
=E {wW*G+w,*G,...... Wi *Gyr )’
- 2¥(W kG +w,*G,. ... w4, *Gyy)* {W, *E(G)+tW, *E(G,)...... +w,,*E(Gy7)}
+ {W*E(G)+W,*E(Gy). ...+ Wi *E(Gyy) )
=E W/ *G)H(W,*Gy) ... W *Gy)’
+ (WG {(W,*Gy)....... (Wi Gip) (W, *Gy) * {(W, *G ) H(W5*Gy). ... T(War Gy} oo
+ (War*Gyp) * {(W, *G )+ (W, *Gy). . ... H(Was™*Gag)
- 2%[(W,*G)* (W *E(G )W, *E(Gy). ...« Wi *B(Gy) (W2 *G)* (W *E(G )W, *E(Gy). ... .. Wi *E(Gap)} ...
+ (Wi Gyp) *{w, *E(G )+ W,*E(Gy). ... W, *E(Gyy)}]
+ {(W*E(G)} +{W,*E(Gy)} ... +{w,,*E(Gi)}*
+ W B(G)}*[{W.*E(Go)} ... W E(Gin) } [HW*E(Gy)} * [{w *E(G) }H{ WS *E(Gy)} ... W E(Gn)} ]}
+ {Wi*E(Gin) }*[{w *E(G) } H{W,*E(Gy)} ... +{wis*E(Gy)}]
= le*E {GI_E(GI)}Z "'sz*E {Gz‘E(GZ)}Z ------ +W472*E {G47'E(G47)}2
+ w*W,*E {G-E(G)}{GrE(Gy)} +w/*Ws*E {G-E(G)}H{G5-E(Gy)} ...... W w*E {G-E(G)}{Gir-E(Gar)}
+ W*W*E {G-B(G)}{G-E(G))} +w,*W,*E {G,-E(G,)} {Gs-E(Gy)} ... W, *w,*E {G,-E(G,)} {G4-E(Gyy)}
+ Wi*W*E {Gy-B(Gp)} {G-B(G)} +Wir*W,*E {Gy-E(Gi)} {G-EB(Gy)} ... Wi Wi *E {Gi-E(Gu) } {Gus-E(Gue) }
= > wi*var(Gy)

i=1
47 47

+ > > wi*wi*cov(G;,G))

i=1 j=1,j=i

cov(G.G) G, G, cov(G.G)=E {G-E(G)}*{G-E(G))}

UFJ yasuhiro_ishimaru@mufg.jp
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